Sf748A8H EHPEREFE A2 5YTHR
SHM748A7H HES
=5l E3
1000 | 2000 | 3000 1000 2000 3000
M 1,300 L
S 1.300f ™
A 1,500 s
2S 2S
B 1,300/ 3S
C 850| BsS
D BS
1LEEYM 1.300f C
1EY D
X4 xhY
X hy =5B
F5C HEY
3S 4
2S M
A A
BS B

SM748A8H FT|Y

JA BEVOUZDOEE

ARERRFE -G HR

SM7E8A78 HEFS
BRI F=
A2L 1.181 A2L
A 1514 AL
AS 1.332 AM
2L 975 AS
S 2L
B 1.304 L
C 928 M
D 116 S
2S
C
D
VA
1HEFEY
4748880 FHY EAHERt Y —HETHR
SM7%E8A7H HE 7
J0((pB)8K| Jo(DB)4K FpRY LAZ(AY) LAAX(INDR
A2L A3L 3L
AL A2L 2L
AM AL L
AS AM M
2L 2L S
L L Ol @)
M M B2L
S S BL
B B B
SS C
HU257—|h)(F)—) Yoga—y = (INDR]H=—0U\IR)
A3L A 2L
A2L B L
AL =R M
AM A3L 900 B
AS A2L 1051 EEPIETS) Z =5 (PFSR)
3L AL 1.022 A3L
2L B 644 A2L
L AFVTIURT AL
M AL L
S AM B¥ ESl
B L 3L
A< A3 M 2L
A2L B L
AL INTGR——3 M
AM L S
AS M BL
2L B B
L t5— /RN C
M L
S M
B B




E35CL EfHZE
RLFIRY—L]|  T—LFSvia Bk BLBHELD Hk EDFLE £H87HY S
3L 3L
2L 2L
L L
M M
B2L S
BL B3L
BM B2L
B BL
BM
<6 28 WEZ (1/3v%5)
1kg 2kg 3kg 4kg 5kg BnE = HFEYA [PENUVDH
A 3L 3L
B 2L 2L
L L
M M
S S
B3L A
B2L B
BL
BM
DN S=ml
YBE | AEFE EXF | #C EnFbe EoT7F
A2l A
AL B
AM
AS
2L
L
M
S
~J)LL
~JLS

SM74£8A8H F{|Y EHEREEFEVA—ETHR
%ﬁ?ﬁsmg Hﬂﬁz:‘

BE TS ML L] L] L ]
1000 | 2000 [ 3000 | 1000 2000 3000
3L
2L 1.500
L 1.400
M 1.000
S
-
@
B 600
Hh
| MZ ®E ML ] B L}
1000CT| 2000CT [3000CT| 1000CT| 2000CT | 3000CT
2L
L 1.300
M 900
B 500

 BEVUVEZORMEREFtEV5—



